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Common Ground and Differing Aspects

Every node executes identical finite-state machine.
Nodes decide property of graph or initial labeling by consensus.
For example: (existence of blue node) or (graph is a star).
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Nodes had to change answer. ) )
Nodes had to count their neighbors.
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Distinguish Cycles(?)

Is it possible to distinguish different length cycles?
Another assumption comes into play: Nodes are anonymous.
Not if same color nodes are always selected at same time. — Fairness.

qs as ds

a3 as a3
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A
I

B = Main = A

Nodes can change
their answer.

No = No = Yes

Detection Acceptance Selection Fairness
Non-Counting: {A, B}. | Halting: Nodes can- | Synchronous: Adversarial Scheduling:
A not change answer. Every node v is selected
1 1 infinitely often.
P =7 - y
B = Main - A SnEies - -
Counting: {{A, A, B}}. | Stable Consensus: Exclusive: Pseudo-Stochastic:

Every finite sequence of
selections occurs infinitely
often.

Liberal:
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Class Distinguishing Property
There exists one blue node.

Cutoff(1)

Cutoff There exist two blue nodes.

NL There exist more blue nodes

than red nodes.
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Scalar Multiplication
Definition p € M e VA € Noo
o(L) = p(A-L).
. There exist more blue nodes
included than red nodes.
. There exist two blue nodes.
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Priority: Can we decide Majority with DAf?
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Class Distinguishing Property
There exists one blue node.
Cutoff(1)
ISM There exist more blue nodes
than red nodes.
The number of blue nodes
NSPACE(n)

is a prime number.




Thank you for your Attention!




